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Ch- Division ( simplification)

BASED ON N.C.E.R.T

* solve the proceeding :-

DMAS

1st step - Division

2nd step - multiplication

3rd step - addition

4th step - Subtraction

Ex- 15 + 49 ÷ 7—15 + 3 X 3

= 15 + 7— 15 + 3 X 3

= 15 + 7— 15 + 9

= 31—15

= 16



Q. Simplify :-

a. 7 X 21—35 ÷ 7 + 7

b. 13 —3. + 5 X 7

C.19 X 2— 5 + 7

d. 36 ÷ 6 X 7—3 + 8

e. 35—7 X 5 + 8

f. 3 X 9 ÷ 3—9

g.105 ÷ 7 X 2—14

h. 27 + 3 ÷ 3 + 12

i. 19—5 X 3 + 10

j. 99999 ÷ 9 X 5—55554

k. 1003 X 15 ÷ 5 + 4 ÷ 2

l. 435 + 6— 23205 ÷ 105

******. (Bikash kumar)


